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1.The resource-centric model in Symantec Backup Exec 2012 focuses on which entity?
A. backups

B. servers

C. drives

D. jobs

Answer: B

2.The Symantec Backup Exec 2012 V-Ray Edition includes agents to protect which application?
A. IBM DB2

B. SAP R3

C. Oracle 11g R2

D. Sybase

Answer: C

3.Global active alerts are located on which tab in Symantec Backup Exec 20127
A. Storage tab

B. Reports tab

C. Home tab

D. Backup and Restore tab

Answer: C

4.Which operation is available with legacy backup-to-disk folders when upgrading to Symantec Backup
Exec 2012?

A. allows storing data back to the folder

B. allows reading and writing to the folder

C. allows only reading data from the folder

D. allows writing to the folder

Answer: C

5.During the installation of Symantec Backup Exec 2012, the administrator is required to supply
credentials for the Symantec Backup Exec services.

Which other specific function does this account fulfill for the Symantec Backup Exec installation?
A. Symantec Backup Exec Administration Account

B. Symantec Backup Exec OST Account

C. Symantec Backup Exec Deduplication Logon Account

D. Symantec Backup Exec System Logon Account

Answer: D

6.An administrator is protecting a critical server using Symantec Backup Exec 2012. The server's
configuration changes often. The administrator must ensure the server's resources are protected without
altering the backup definition associated with that server.

How does Symantec Backup Exec 2012 help the administrator manage this problem?

A. Advanced Configuration Protection

B. System State Master Control
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C. Persistent Device and System Monitoring
D. Dynamic System and Application Device Protection
Answer: D

7.An administrator is using Symantec Backup Exec 2012 to protect an Exchange server. The
administrator must be able to recover individual application objects, such as emails and attachments,
from the backup sets captured from the Exchange server. The administrator would like the process of
granular recovery to happen as quickly as possible.

Which best practice should the administrator follow when configuring the backup definition for the
Exchange server?

A. manually stop all Exchange services before backup using scripts

B. use the VSS Full backup method when configuring backup properties

C. run the Granular Recovery Optimization Utility (GROU)

D. store the Exchange server backup sets to disk storage

Answer: D

8.An administrator needs to use Symantec Backup Exec 2012 to protect a VMware environment. The
data store containing the VMware virtual machines is located on SAN disk storage. The Symantec
Backup Exec 2012 server is also connected to the SAN infrastructure. The administrator needs to restrict
the flow of backup data such that it always travels over the SAN.

How should the administrator proceed?

A. select the SAN Only option on the VMware vSphere or vCenter server

B. select the SAN Preference option in backup properties

C. use the transport mode priority list option to only select SAN

D. use the network options in configurations settings to select SAN

Answer: C

9.An administrator needs to use Symantec Backup Exec 2012 to protect specific file elements on a
server.

Which backup definition property should the administrator use to specify the files to be protected?
A. Backup Selections

B. Backup Items

C. Backup Files

D. Backup Contents

Answer: A

10.An administrator needs to capture recurring backups of an Exchange server. The backups must be
stored to a single backup device once a week. Each backup needs to represent a complete capture of the
Exchange server.

Which backup method should the administrator use?

A. Complete

B. Full

C. Snapshot

D. Image
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Answer: B

11.An administrator needs to create a backup definition that captures recurring backups of a particular
server resource. After the first full backup, each subsequent backup should capture all changes since the
initial full backup.

Which backup method should the administrator use?

A. Full

B. Recurring

C. Differential

D. Incremental

Answer: C

12.Which task should an administrator complete before using Symantec Backup Exec 2012 to perform a
recovery of a Unified Extensible Firmware Interface (UEFI) partition?

A. format the storage array

B. create a Simplified Disaster Recovery Disk

C. create a utility partition

D. create an Intelligent Disaster Recovery Disk

Answer: C

13.Which two backup options can be configured for the Advanced Open File Options (AOFO) in
Symantec Backup Exec 2012? (Select two.)

A. process physical volumes for backup one at a time

B. Volume Snapshot Provider (VSP)

C. process logical volumes for backup one at a time

D. maximum quiet time

E. enable checkpoint restart

Answer: CE

14.Which option is set in the security pane in Symantec Backup Exec 2012 job defaults?
A. scan data being backed up during job

B. choose level of encryption for jobs

C. run a job when a ThreatCon level is reached

D. enable encryption of data, depending on media used

Answer: C

15.Which two settings can be configured for the Symantec Backup Exec 2012 Database Maintenance?
(Select two.)

A. enable/disable Database Maintenance

B. restore the Symantec Backup Exec 2012 database

C. change the default retention for the Job History

D. truncate the catalogs

E. restart the Symantec Backup Exec 2012 database services
Answer: AC
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16.Which two operations are invalid with legacy backup-to-disk folders? (Select two.)
A. backup

B. catalog

C. restore

D. Simplified Disaster Recovery

E. inventory

Answer: AD

17.What does the value of the high water count property of a tape drive represent?
A. the size of the blocks of data that are written to new media in this tape drive

B. the amount of data that is sent to the tape drive on each read or write request
C. the number of buffers that are allocated for this tape drive

D. the number of buffers to be filled before data is first sent to the tape drive
Answer: D

18.Which utility is run to manually install Symantec tape device drivers?
A. beutility.exe

B. driverinst.exe

C. tapeinst.exe

D. tapeutility.exe

Answer: C

19.How many disk storage devices can be configured on a volume?
A. one

B. two

C. three

D. four

Answer: A

20.Last night's backup went to the Daily media set instead of the Weekly media set. To fix this, the next
day the media was moved to the Weekly media set.

Daily media set (Overwrite Period = 7 days and Append period = 5 days).

Weekly media set (Overwrite Period = 5 weeks and Append period = 8 hours).

How long can the media still be used and when will it be available for recycling?

A. the append period = 5 days and the overwrite period = 7 days

B. the append period = 5 days and the overwrite period = 34 days

C. the append period = 0 days and the overwrite period = 35 days

D. the append period = 0 days and the overwrite period = 34 days

Answer: C
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